12"-2," | DN15-DN65 | CLASS 600

Side Entry Floating Ball 3 Piece

Valve dimensions

- H
D
C
@ Ball port 1
3
K |
f
| | | @ Ball port 2
-~ B —
A Preparation
TxL thread for actuation
FPCD
— W —_ -t —HEBND — - — - — - - [

1 & 2" 1 - 11"

T without nut with nut

M 2" Stem flats
: show valve
ball position

<N thread

Std. | Full ni Ball | Ball

port port1 |port2

LR mm 1050, 950 66.00 2060 29.00 3790/ 61.50 88.20 150.00 47.00, 554 % UNF 6.65/(FO3)| 36.00 M5X10 100 | 24

Va" inch 041 037 260 081 114 149 242 348 591 185 022 0.26 142 220 28
DLRERNEGE mm 1050 950 66.000 2060 29.00 3790 61.50 88.20 150.00 47.00, 554 3% UNF 6.65(FO3)| 36.00 M5X10 100 | 28
n" %" inch 041 037 260 081 1.14 149 242 348 591 185 022 0.26 142 220 | 33
LI INEER mm 14.30) 11.90 7060 24.50 3140 4030 63.90 93.70 150.00 53.70, 554 % UNF 6.65 (FO3) 36.00 M5X10 1.20 4
¥ A" inch 056 047 278 097 124 159 252 368 591 211 022 0.26 142 264 5
DIPERNPIE mm 2060 1590 9370/ 31.70 38.10 5560 79.40 119.00 187.00| 63.70 7.54 e UNE 740 (FO4) 42.00 M5X10 240 8
1" " inch 081 063 369 125 150 219 313 468 736 251 030 0.29 1.65 5.29 9
DIEPRNPESY mm | 2540 20.50 108.00| 41.30 42.70 60.20 84.10/130.15 187.00| 71.70, 7.54 e UNF 740 (FO4) 42.00 M5X10 400 | 16
1" 1" inch 1000 081 425 162 168 237 331 513 736 282 030 0.29 1.65 8.82 19
DLEINEPE mm 31.80) 26.60 11550 4840 43.60 73.00 97.00 139.05 237.00 86.70 871 Y56 UNF 8.50/(FO5)| 50.00 M6X12 550 | 40
(W8S inch 125 1.05 455 191 172 287 382 547 933 341 034 033 1.97 1212 46
DLETRNEGE mm 38.10) 35.00 128.00 5630/ 4830 77.80 101.80 149.45 237.001 9690 871 %5 UNF 8.50/(FO5)| 50.00 MEX12 690 @ 42
2" (W8S inch 150 138 504/ 222 190 306 401 588 933 382 034 033 1.97 15.21 49
L CERIRINETE mm 50.80) 48.00 158.00 72,60 70.00 88.10 115.10 175.40 237.00 108.00 8.71 % UNE 13.50/(F07)| 70.00 MBX12 1445 | 96
2" 2" inch 200 189 622 286 276 347 453 690 933 425 034 0.53 2.76 3185 111

356 | FEDHABONIM | INDUSTRIAL VALVES




15"-215" | DN15-DN65 | CLASS 600 3 IIII

Side Entry Floating Ball 3 Piece

Components & materials

18

Item | Description Material specification Item | Description Material specification

Acc. Ordering Code
Acc. Ordering Code
Acc. Ordering Code
Acc. Ordering Code
Acc. Ordering Code
Acc. Ordering Code
Acc. Ordering Code
Stem thrust seal | PEEK, CF PEEK, PCTFE
Anti-abrasion ring | PEEK, CF PEEK, PCTFE
Stop pin S. Steel

Stem seal CF PTFE, TFM
Follower S. Steel

(1,8 Slide bearing S. Steel
{8 Disc spring S. Steel
P Stem nut S. Steel
(1 Locking clip S. Steel
(8 Handle S. Steel
(k1 Serrated washer S, Steel
1[5 Handle nut S. Steel
VA Sleeve PVC

(8 Body bolt S. Steel
vI) Anti-static spring | S. Steel
vk Anti-static plunger | S. Steel

vER Tag (not shown) | S. Steel
* Repair kit components

ol ol lwlwivlmlmlw | —
R S O I N S N I O D R NS

* 212" (DN65) size maximum pressure rating is Class 400.

INDUSTRIAL VALVES | (EDHABONIM | 357




WAl 3'-6" | DN80-DN150 | CLASS 300

Side Entry Floating Ball 3 Piece

Valve dimensions

H
D
Ball port —
Preparation
for actuation
P
A i
=
] ]
oW (e —@— ——— BO -
Stem grooves
show valve
| e ball position “a.
\ "
i i K
I TxL thread N thread -
FPCD
1
. Square
Std. Full i Ball | Ball A
port | port port 1 port 2
DIEIDN R mm 6375 8050 169 833 983 1449 185/ 163] 400140001890 1'-14 | 16.70(F10) 102.00 M10x00 1800 129
X
3" 215" inch 251 317 665 328 387 570 728 642 1575 550 074 UNS-2A| 066 4.02 3967 | 150
DIEDMNEE mm 8000 6325 214 1088 114.1) 160.7 200 183 600177.0011890 1"-14 | 16.70(F10) 102.00 M10x20 2820 182
4" 3" inch 315 249 843 428 449 633 787 720 2362 697 074 UNS-2A| 066 4.02 6215 211
OIREDE mm 9200 6700 239 123 124 1705 211 200 600217.00/ 1890 1"-14 | 16.70(F10) 102.00 M10x20 3600 334
4" inch 362 264 941 484 488 671 831 787 2362 854 074 UNS-2A| 066 4.02 7934 388
DN150 mm 11135 7790 346 146 157 226 286 212 9161266.00 2845 114"-12 1 26.20(F12) 125.00 M12x20 4100 437
X
6" inch 438 307 1362 575 618 890 1126 835 3606 1047 1.12 UNF-2A 103 4.92 9036 507

358 | FEDHABONIM | INDUSTRIAL VALVES




Y8l 3'-6" | DN8O-DN150 | CLASS 300 3 mE

N
Side Entry Floating Ball 3 Piece

Components & materials

Item | Description

Material specification

14B 16 14 17

Item | Description

Material specification

Acc. Ordering Code 1 11 S. Steel 2
Acc. Ordering Code 1 12 S. Steel 1
Acc. Ordering Code 1 13 S. Steel 1
Acc. Ordering Code 1 14 S. Steel 1
Acc. Ordering Code 2 14A S. Steel 1
Acc. Ordering Code 1 (2153 Wrench head S. Steel 1
Acc. Ordering Code 2 1[5 Wrench bolt S. Steel 1
Acc. Ordering Code 2 VA Sleeve PVC T
Stem thrust seal | PEEK, CF PEEK, PCTFE 1 [\ Antistatic spring  |S. Steel 2
Anti-abrasion ring  PEEK, CF PEEK, PCTFE 1 74 Antistatic plunger | S. Steel 2
Stop pin Acc. Ordering Code 1 3 Tag (not shown) | S. Steel 1
Stem seal CF PTFE, TFM, Graphite 1 * Repair kit components
Follower S. Steel 1

INDUSTRIAL VALVES | (EDHABONIM | 359




& ik

Diverter | Side Entry 3 Piece - Ordering Code System

"Mandatory option" options are marked with |gréenbackground | "Standard offer" options are marked with light green background

1 2

8 9 10 11 12 13 14 15 17 18 19 20 21 22 23 24 25 26 . . 30

- [ells] [ells] [ A J[ 7 J[c 1/ [elwll]lo] [s]fo][ ] [ICILIL]

16
T
NN A A 2 N A

Size Features Series [l Design Body/end | Ball/Stem Seat Inner Seal |l Outer Seal End Rotation Special
material material [l material J material material connection features

Size (1-2)

DW
=
DU‘I
EE
=] ~
[~]
(&

Ball material (13)

End Connection (19-22)

Rotation (23 -25)

Code | inch S. SteelCF8M/CF3M Welded ends 90 degrees rotation
02 Hasteloy-C22 Buttweld schd. 10 180 degrees rotation
254SMO BW Buttweld schd. 40 applicable for bottom

03
05
(4
10
12
15
20
25
30

Duplex SW Sedai weld entry diverter valve L

Bronze I AL Fxtended buttweld schd. 10 Special Features (24-30)
i/‘\JperlD“p ex G\ Extended buttweld schd. 40
AII(Z:;EZO XSW Extended socket weld
Hasteloy-C276 B Buttweld schd. 5 ;88 DD stem
BW80 Buttweld schd. 80 ;
X Internal surface finish

Stem material (14) BWO Buttweld tube OD W (G24,G32)

S. Steel316L DI Buttweld DIN 11850 '
High Strength S. Steel | FE1] buttweld 1SO

Body made from rolled bar

Electropolished

N>NX=0wnso

Valve Special Stem Seals
FDA compliant stem seal.

. Inconel 718 B637 SWO Socket weld tube OD TFM thrust bearing and X
E 100 Alloy-C22 B574
0 o 150 oy ETO Extended tube OD shape gasket

: 2545MO A479 ETI Extended buttweld ISO CF PTFE thrust and
80 8 200 Alloy-20 A35T CN7M | Y Extended buttweld DIN X shape gasket

PCTFE thrust and

TFM X shape gasket
PCTFE thrust and

CF PTFE X shape gasket
High Cycle service

Duplex A479

Super Duplex A479
Monel NPT
Hasteloy-C276

Threaded
ASME B1.20.1 -
National Pipe Taper thread
BSPT EN 10226 - Pipe Taper thread
Seat material (15) BSPP [SO228-1, DIN3852 -
TFM(3) Pipe Parallel thread
UHMWPE DII\EEEPE DIN3852 - Pipe Parallel thread
PTFEQ3) SEPLPAS SAE internal straight thread
CF PTFE(3) MNPT Male NPT
PCTFE V(SR Male BSPT
CF PEEK Flanged
Virgin Peek 150 ASME B16.5 #150 RF
Delrin 300 ASME B16.5 #300 RF
PVDF 600 ASME B16.5 #600 RF
Inner Seal Material (16) 900 ASME B16.5 #900 RF
PTFE PN16 EN1092 PN16 RF
TEM RN EN1092 PN4O RF
UHMWPE 2\ EERR EN1092 PN63 RF

Features (3-6)

Diverter bottom entry

NN X0O>»wn=sNEZOo

Full port

Clean assembly for O2
service

Chlorine service

Shell only - fire safe

Hydrogen service

Series (7-8)
Ly~ 3 piece bottom entry

“IyA 3 piece side entry

sS<rxnv-Hc>

Body/Ends material (11-12)
S. SteelCF8M/CF3M

6 Viton VL EN1092 PN100 RF
(I Bronze NBR VR EN1092 PN160 RF
4 C. steel A216 WCB/A105 Expanded graphite
9 C. steel A352 LCB Outer Seal Material (17) LL Compression fitting (Imperial) -
7 Monel . No Nuts & Ferrules

Expanded graphite LM Compression fitting (metric) -
LU Alloy-20 A351 CN7M PTFE No Nuts & Ferrules
/A Alloy-C22 B574 TFM Compression fitting (Imperial) -
D Duplex A479 UHMWPE with Nuts & Ferrules

Viton Compression fitting (metric) -
LSS Super Duplex A479 NER with Nuts & Ferrules
S 254SMO A479 Tri-Clamp

Grayloc© compatible hub
(Grayloc®© is a registered trademark
of Grayloc Products, L.L.C)

360 | FEDHABONIM | INDUSTRIAL VALVES




